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def hasmatch(exp, str)
I ary = str.split(//)
0.upto(ary.length) {lil
try(exp, ary, i) {
return |
}
]
nil
end
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matchstr([:rep, [lit, "a"]], "aaa") #=>13, 2, 1, 0]
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/a*/ =~ "aaa" #=>0
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[a*] =~ “aaa”

la*/ =~ “aaq” matchstr([:rep, [:lit, “a”]], “aaa”)
=> (3, 2, 1, 0]
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def startwithmatch(exp, str)
try(exp, str.split(//), 0) {Iposl|

<eturn O>
try A" yield L7z SBENEEIC
n|I startwithmatch A>5 return 95
end try I3 Z DB R THETIN
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matchstr([:rep, [:rep, [:lit, “@"]]], “aaa...aad”) ELD
startwithmatch([:rep, [:rep, [:Iit, “a”]]], “aaa...aaa”) &L

startwithmatch([:cat, [:rep, [:rep, [:lit, "a”]]], [:lit, “b”]],
“aaa...aaac’) E LD
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* /b/ =~ “abc’ f=>1 <vF93
I e matchstr([:lit, “b”], “abc”) #=>[] ~vFL7EL
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* /b/ =~ “ababbabbbabbbb” #=> 1
I e /bb/ =~ “ababbabbbabbbb” #=> 3
* bbb/ =~ “ababbabbbabbbb” #=> 06
* /bbbb/ =~ “ababbabbbabbbb” #=> 10
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def hasmatch(exp, str)
seq = str.split(//) e

o(seq. Ieng\R .
try(exp, seq,U =
return(i]

}

nil
end
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NStr

nstr([:
:anysym], )
rep, [:anysym]], “ab\ncd\n”) #=>

(
nstr([:
nstr([:

anysym], “abc’)

rep, [:anysym]], “abcdef”)

#=>
#=>

#=>

1]
]
6,5,4,3,2,1,0]
6,5,4,3,2,1,0]
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I matchstr(exp, “abcdef”)

/ a bcdef£f

[;anysym] | - 1]

[:rep, [:anysym]] F
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def try(exp, seq, pos, &block)

:anysym
ysym(seq, pos,
end

nysym(seq,
S < seq.length
yield pos + 1
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try lit & D LLER

def try_anysym(seq, pos)
If pos < seq.length

-

yield pos + 1 X D SR FE AN AR
end
end

def try_lit(sym, seq, pos)
if pos < seq.length %seq[pos] W
yleld pos + 1 NXFOFEMMEFIEDN DD
end
end
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* matchstr([:string_start], “abc”) #=> [0]

* matchstr([:string_start], ™)  #=>[0]

 hasmatch([:cat, [:string_start], [:lit, “@”]], “abc”)
* hasmatch([:cat, [:string_start], [:lit, “b”]], “abc”)

>/ [:string_start]

#=> 0
#=> nlil
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hasmatch([:cat, [:string_start], [:lit, “0”]], “abc”)
[:cat, [:string_start], [:lit, “b”]] [:cat, [:string_start], [:lit, “D”]]
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def try(exp, seq, pos, &block)

tring_start
Ing_start(seq, pos,

&

end

_string_start(s
Id pos if pos =
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try_empseq & D LLE

def try_string_start(seq, pos)

yield posifpos =00 1 @4t
en

def try_empseq(seq, pos)
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* matchstr(exp, str)
e hasmatch([:cat, [:string_start], exp], str)
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* matchstr([:string_end], “abc’) #=> ]

* matchstr([:string_end], “) #=> [0]
* hasmatch([:cat, [:lit, “c”], [:string_end]], “abc”) #=> 2
* hasmatch([:cat, [:lit, “0”], [:string_end]], “abc”) #=> nil
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hasmatch([:cat, [:lit, “c”], [:string_end]], “abc’)
[:cat, [:Iit, “c”], [:string_end]]
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def try(exp, seq, pos, &block)

tring_end
Ing_end(seq, pos, &

end

_string_end(seaq,
Id pos if pos == seq.len
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try_empseq & D LLE

def try_string_end(seq, pos)
yield pos|if pos == seq.lengthl 1B D&MD S
end

def try_empseq(seq, pos)
yield posK
end
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* matchstr([:line_start], “abc”) #=>[0]

* matchstr([:cat, [:rep, [:anysym]], [:line_start]], “a\nb\n”)
#=> [2,0]
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def try(exp, seq, pos, &block)

e_start
start(seq, pos, &
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end

rt(seq, pos)
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def try_line_start(seq, pos) RIFDIRSEOTVS
if pos == OMIN(POS < seq.length && seq[pos-1] ==
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def try_string_start(seq, pos)
yield pos if pos ==
end



TR $

ITOREICYYF T 5/N9—2 [line_end]

Ruby D IEFRFRIE Tl §
CDNY—VBEFIEIXFEEELRL
XFINDHRZBENITOERICYYFIT S

o XFIHIRITTRDOO>TVWTEXRIDZREIC
TYF S BORERNIEE




TR
2 3 4 5
c \n d e \n
c \n \n d f \n
A
\n ¢ d \n f




o (TRICYYFIB/N9— [line_end] #EZELT
| Bats &
e =T AMZIREITAHDT. EELLEST AL
L CHERR T B &
e Xt]] 2006-06-13 16:20
* |T's class

o AR FH Xt T F AN TI7AMILAED



EMIE

DL R—

=)

\O)ﬁﬁhﬁﬁ

Ruby @ =~ OEFEIZdH 1ot 7= hasmatch Z=E
\:‘<’375‘Hz bTﬁ.—\gE

:anysym]
:string_start]
:string_end]
:line_start]

LIR—h7%&h

A L7



